PREVERJANIJE PRED OCENJEVANIJEM

preverjanje besedisca

1. What do you see in the picture? Choose down the material and the object.
Look at the example. Kaj vidiS na slikah? Izberi material in predmet.
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. Example: This is a[wollen] [jumper.]

These are 7. Theseare
Thisis a 8. Thisisa
Thisis a 9. Thisisa
Thisis a 10. Thisisa
Thisis a 11. These are
These are 12. Thisisa
Match the words that go together. PoveZi besede, ki spadajo skupaj.

1. work a decision

2. twin age

3. stone designer

4, business experience

5. make heeled

6. high miner

7. fashion partner

8. railway school

9. gold sleeved

10.long worker



3. Look at the picture and describe the clothes. Poglej sliko in opisi oblacila.

1. The man's boots are and made of . They are very comfortable.
2. The woman'’s shoes are . It hurts when women wear them for a long time.

3. The T-shirts are so that you can wear them when there is hot outside.

4, There'sa shirt next to the dress.

5. The jacketis . Itis all in one colour.

6. There are some jeans on the bed. They are old-fashioned now.

4, Match sentences 1-8 with pictures A-H.
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1. This person is wearing baggy jeans and a long-sleeved shirt.G

2. This person is wearing a black T-shirt and loose jeans. D

3. This person is wearing tight jeans and flat shoes. D

4. This person is wearing baggy jeans and a short-sleeved T-shirt. D
5. This person is wearing pointed shoes. D

6. This person is wearing a checked shirt.

7. This person is wearing high-heeled shoes.

8. This person is wearing a striped jumper. G



5. Complete the text. Choose the most suitable answer. Izberi ustrezni odgovor.

Tristan LaCruze is presenting his new summer collection. His first model is wearing

green cotton (bombaine) trousers with a long white (poliester) shirt. Round -
her neck she has a (svilen) scarf. She is also wearing a
(volnen) jumper and a pair of (gumijasti) boots. OK in the rain, but not ideal

in hot weather! Her earrings and necklace are very modern. They are made of

(steklo) and (jeklo). She is also wearing a

(zlat) ring with a large diamond. She is carrying a yellow and green bag. It is made of

(plastika) and it looks very cheap! This is definitely not LaCruze’s best collection!

6. Complete the text. Choose the most suitable answer. Izberi ustrezni odgovor.

(Spicaste) black shoes.
My favourite outfit was the last one. The model wore a white

T-shirt, (tesne) black trousers and

It was very stylish.

The fashion this spring is exciting. There are lots of different designs. The first

model wore long, baggy trousers, a (enobarvno) green shirt
and (nizke) shoes. The second model had
(hlace na zvon) trousers, a (karirasto) shirt and

(értasta)

(z visoko peto) boots.

7. Complete the sentences. Write English expressions for the words in the brackets.
Dopolni povedi. Zapisi angleske prevode besed, ki se nahajajo v oklepaju.

1. Students in Britain (zbirati — not collect) money for the (revni).

2. Tim is going to work in a newspaper (pisarna) for his work (praksa).

3. Sweet Sue and Smart Alec used to be . (nasprotnika)

4. People found Otzi's body high in the . (gorovje)

5. Otzi wanted to (pobegniti) but he was shot in the back with an (puscica).
6. Otzi was carrying a (bakrena sekira) and some (leseno orodje)
7. He was wearing (usnjeni skornji).

8. (znanstveniki) found pieces of corn in his (oblacila).

9. Bud how did he die? Did he (pasti) or did somebody (umoriti) him?
10. Levi (izumiti) jeans and they were a great (uspeh).

11. Strauss and Davis became (poslovni) partners and worked (skupaj).




